
MAIN ROOF
47' - 0 1/4"

3

4
"

6
"

L4x4x3/8 x 1'-0" LONG
CENTERED ON JOIST

CONT. L4x4x3/8

CONT. L3x2x1/4 FOR
DECK SUPPORT

3"

1/4

FULL WIDTH
OF CHORDS

1/4

1/4

3/16

FULL
WIDTH OF
CHORDS

DECKING - SEE PLAN

JOIST - SEE PLAN

CONT. MC10x8.4 - PROVIDE
1/4" STIFFENER PLATE 
CENTERED UNDER RAIL POSTS

RAILING ASSEMBLY - COORD. w/ARCH DWGS

CONT. HSS3x3x3/8 STAINLESS STEEL (SS)

4"ØXS PIPE COLUMN SS(TYP SEE PLAN)
AT 4'-0"O.C. MAX.

1
' -
 1
0
"

CONT. 14" x 1/2" PL
WELDED TO EACH MEMBER 
CROSSED AS SHOWN

BASE PL (TYP) 6 1/2" x 1/2" x 0'-10" w/
(4)3/4"Ø A325 BOLTS - PROVIDE 1" THICK
PL AT COLUMN w/FALL ARREST "D-RING"

1/4

ACROSS
EACH

FLANGE

1/4

ACROSS EACH
FLANGE

1/4 3@12

1/4 3@12

MAIN ROOF
47' - 0 1/4"

2

8
 1
/2
"

3
 1
/2
"

3" 1" EOD

CONT. L4x4x5/16 FOR
DECK SUPPORT

DECK - SEE PLAN

CFM WALL BY CFM 
DESIGNER

CFM PARAPET BY 
CFM DESIGNER

FINISHES -
SEE ARCH DWGS

BEAM SEE PLAN

1/4 3@12

1/4 3@12
STAGGERED

STAIR TOWER ROOF
56' - 10 1/4"

H

COORD. w/ELEVATOR SUBMITTAL

4' - 1 7/8" +/-

HOIST BEAM
SEE PLAN

4
" 
C
L
R

CONT. 3" x 1/4" PL w/
1/2" x 4" WELDED STUDS

@ 24"O.C.

FINISHES - SEE ARCH. DWGS

CONT. ANGLE ANCHORED 
TO CMU WALL / WELDED TO 

BEAM - SEE DETAIL 
A11/SF500

CONT. 16" DEEP BOND 
BEAM w/(2)#4 BARS 
FULL PERIMETER

MAIN ROOF
47' - 0 1/4"

D

W16X89

PROVIDE 1 1/2" x 12" LONG PL
FOR JOIST BEARING

CONT. L3x2x1/4 FOR
DECK SUPPORT

1/2"

3"

1/4

3/16

FULL
WIDTH OF
CHORDS

MAIN ROOF
47' - 0 1/4"

A

SF501

L11
SIM

5"

4" EOJ

5"

2
' -
 5
 3
/4
"

1
"

L4x4x3/8 ANGLE AT
WINDOW HEAD

3/8" STIFFENER PL
@ 24"O.C.

CONT. L4x4x5/16
PERIMTER ANGLE

L3x3x1/4 ANGLE BRACE AT 
4'-0"O.C. (ALIGN w/NEAREST 
JOIST)

5"SQ x 1/4" PL (TYP)

5
0
° M
A
X

V
A
R
IE
S

2
2
° M
IN
 -

1/4

FULL WIDTH
OF CHORDS

MAIN ROOF
47' - 0 1/4"

D

2" 3" 1 1/2"1
 1
/2
"

3
"
3
"

2
"

(3
'-
5
 1
/2
")
 @
 L
O
W
 S
E
C
T
IO
N
 O
F
 W
A
L
L

5
' -
 8
"

8
 1
/2
"

1
' -
 0
"

1' - 1"

C
-3

C6X8.2

C6X8.2

W16X57

3"

BEAM - SEE PLAN

WT9x27.5 x 0'-9 1/2"
w/(6)3/4"Ø A325 BOLTS

SLAB ON DECK
SEE PLAN

TYPICAL CONNECTION
(C6 TO HSS):

L3x3x5/16 x 0'-4"
w/(1)3/4"Ø A325 BOLT
TO C6 WELD TO HSS

NOTE: G.C. CONFIRM
C6 ELEVATIONS w/ARCH.
DWGS. AT SCREEN WALL

"D-RING" WELDED TO
COLUMN FOR FALL ARREST

WEB STIFFENER PL (TYP)
EACH SIDE OF WEB

WEB STIFFENER PL
EACH SIDE OF WEB

BASE PL: (TYP) 7" x 1/2" x 14"
w/(4)3/4"Ø A325 BOLTS -
PROVIDE 1" THICK PL @
FALL ARREST LOCATION, BOLT 
EDGE DISTANCE = 1 1/4"

ANGLE BRACE - SEE PLAN

Allied Engineering
Structural  Mechanical   Electrical  Commissioning

160 Veranda Street

Portland, Maine 04103

T:207.221.2260

F:207.221.2266
Web:www.allied-eng.com

GAWRON ARCHITECTS IS PROHIBITED

COPYRIGHT 1985-2017

WRITTEN PERMISSION OF
THIS DOCUMENT WITHOUT
REPRODUCTION OR REUSE OF

C

DRAWN BY:

DRAWING SCALE

CHECKED BY:

DATE:

PROJECT #

# DESCRIPTION

2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19

B
C

D
E

G
F

H
J

L
K

M
N

P
O

Q
R

201

A

SHEET TITLE

REVISIONS
DATE

AEI PROJECT NO.: CAD FILE:

AS NOTED

- PERMIT SET09.14.17

9
/1
5
/2
0
1
7
 1
0
:1
4
:0
7
 A
M

SF501

WPF

PED

010416

09.14.17

STRUCTURAL -
DETAILS 2

cP
or
t C
re
di
t U
ni
on

5
0
 I
n
d
ia
 S
tr
e
e
t

P
o
rt
la
n
d
, 
M
a
in
e

P
E
D

16025_S.rvt16025

 3/4" = 1'-0"

L16 DETAIL

 1" = 1'-0"

L11 DETAIL

 3/4" = 1'-0"

F16 DETAIL

 3/4" = 1'-0"

A11 DETAIL

 1" = 1'-0"

F11 DETAIL

 1" = 1'-0"

L6 DETAIL

 3/4" = 1'-0"

K1 DETAIL


	Sheets
	S000 - STRUCTURAL - GENERAL INFORMATION-1
	SF100 - STRUCTURAL - SECOND AND THIRD FLOOR FRAMING PLANS
	SF101 - STRUCTURAL - FOURTH FLOOR AND MAIN ROOF FRAMING PLANS
	SF102 - STRUCTURAL - STAIR TOWER AND ELEVATOR ROOF FRAMING PLAN
	SF200 - STRUCTURAL - SEISMIC LOAD RESISTANCE SYSTEMS SCHEMATICS
	SF501 - STRUCTURAL - DETAILS 2


